value

PC.ae.C36.0

F vimmed-means(3.64,808.67) =, p = NA, 3% = 0.40, Clgsy, [0.11, 0.70], Npais = 371
1.6- P Bonferroni-corrected = 1.45e-06 -1.6
PBonferroni-corrected = L./ /€=11 "

P Bonferroni-corrected = 0.24€~-00

P Bonferroni-corrected — 0-000376

PBonferroni-corrected = 2-44€=10 1
P Bonferroni-corrected = 0002

P Bonferroni-corrected = £.-Uoe—11

1.2- -1.2
0.8- -0.8
ﬁtrimmed =0.58
I 2
‘ Hirimmed = 0.56 ﬁtrimmed =0.57 .
0.4- -04

agleo aglel agle2 agleS agle4
(n=371) (n=187) (n=52) (n=207) (n =207)
age

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant
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